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KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER  

IMPORTANT INSTRUCTIONS FOR THE CANDIDATES 

 

 

 

 

 

 

1. Attempt all the questions. Every question has equal marks viz. 2. 

2. Before attempting the question paper kindly check that this booklet has total 14 pages & OMR Answer sheet consists of three copies. At the start of 

the examination and within first five minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly 

printed and test booklet is not damaged in any manner. Serial No. of OMR Sheet and Test Booklet match with each other. In case of any 

discrepancy the candidate should immediately report the matter to the invigilator for replacement of test booklet & OMR/Answer Sheet. No claim in 

this regard will be entertained after five minutes of start of examination. 

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet. 

4. Do not tear or fold any page of the question booklet and OMR/Answer Sheet. 

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one 

identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will not be 

allowed to enter in the Examination Centre. 

6. Candidates are advised to make sure to fill the correct name, Roll No. & test booklet code on the OMR Answer Sheet. If the space for the Booklet 

Code is left blank or more than one booklet code is indicated therein and non filling of name and roll no. as per instruction, it will be deemed to be 

an incorrect booklet code & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences 

arising out of any error or omission in writing the test booklet code. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, 

on the OMR/Answer Sheet and on the Biometric Machine along with signature. 

7. Candidate should put his/her signature and thumb impression on the Admit Card at two places in the presence of Invigilator in the Examination Hall. 

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener etc, to 

smudge scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of candidates 

using Eraser, Blade, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be cancelled. 

9. Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic 

or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any 

such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material as 

mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring 

him/her from future examination.  Use of Eraser, nail, blade, white fluid/whitener etc., smudging, scratching or damaging in any manner the OMR 

answer sheet shall lead to cancellation of candidature and such OMR answer sheet shall not be evaluated. 

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric 

Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and Jammers 

etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc. 

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained. 

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination 

by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be 

allowed to sit in the examination and be liable for criminal prosecution. 

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace them. 

Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three copies 

to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to take 

away this Test Booklet with them. 

14. Each question has four alternative answer of which only one is correct. For each question, darken only one circle, which ever you think is the correct 

answer on the OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening the circle. 

If more than one circle is found darkened, that answer will not be evaluated. 

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination. 

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her 

signature and mentioning "Cancelled" on it. 

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid. 

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted. 

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your 

answer will be treated as wrong and such answer shall not be evaluated. 

 
20.  If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per 

instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal 

proceedings.  हहॊदी में ननदेश अॊनिम पषृ्ठ पर देखें । 
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1.  Suhas travelled 15 km towards East, then 
turned towards North & travelled 15 km and 
turned towards West and travelled 15 km. 
How far is he from the starting point ? 

सुहास न ेऩूयफ की ओय 15 ककभी मात्रा की, 
कपय उत्तय की ओय घूभकय 15 ककभी मात्रा 
की औय कपय ऩश्चिभ की ओय घूभकय 15 
ककभी मात्रा की । वह प्रायॊभबक स्थान स े
ककतनी दयू है ? 

 

 
   (A) 15 km /15 ककमी   

 
   (B) 30 km /30 ककभी   

 
   (C) 45 km /45 ककभी   

 
   (D) 0 km /0 ककभी   

 

 

2.  By whom reconstruction of Sthaneshwar 
temple of Kurukshetra was done ? 
कुरुऺेत्र के स्थानेचवय भश्ददय का ऩुनर्निभािण 
र्नम्नभरखित भें से ककसके द्वाया कयवामा गमा 
? 

 

   (A) Maratha Sadashiva Rao  

मराठा सदामशव राव   

 

   (B) Chandragupta Vikramaditya  

िदरगुप्त ववक्रभाददत्म   

 

   (C) King Harshavardhan  

याजा हषिवर्द्िन   

 

   (D) Prabhakarvardhan  

प्रबाकयवर्द्िन   

 

3.  If a man`s rate with the current is 12 km/hr 
and the rate of the current is 1.5 km/hr, then 
man`s rate against the current is 

मदद एक व्मश्तत की धाया के साथ गर्त 12 

ककभी / घण्टा है औय धाया की गर्त 1.5 ककभी / 
घण्टा है, तो धाया के ववरुर्द् व्मश्तत की गर्त है 

 
   (A) 9 km/hr /9 ककमी / घण्टा   

 
   (B) 6.75 km/hr /6.75 ककभी / घण्टा   

 
   (C) 5.25 km/hr /5.25 ककभी / घण्टा   

 
   (D) 7.5 km/hr /7.5 ककभी / घण्टा   

 

4.  The Bapoli falls under which district of 
Haryana ? 

फाऩोरी हरयमाणा के ककस श्जरे के अदतगित 
आता है ? 

 
   (A) Ambala / अम्फारा   

 
   (B) Panipat / पानीपि   

 
   (C) Karnal / कयनार   

 
   (D) Jind / जीॊद   

 

5.  Select the substitution that best expresses 
opposite meaning of the underlined word. 
The officer had issued explicit instructions to 
his staff. 

 
   (A) inadequate   

 
   (B) elusive   

 
   (C) ambiguous   

 
   (D) queer   

 

6.  What causes common cold ? 

साधायण सदी–ज़ुकाभ का कायण तमा है ? 

 

   (A) Bacteria  

फैतटीरयमा (जीवाणु)   

 

   (B) Fungi  

कवक (पॊ गस)   

 

   (C) Virus  

ववषाणु (वाइरस)   

 

   (D) Protozoa  

प्रोटोज़ोआ   

 

7.  Which of the electrical instruments have to be 
connected in the same manner for 
measurement ? 

र्नम्नाॊककत भें से ककस ववद्मुत उऩकयण को 
भाऩन के भरए उसी रूऩ से जुड़ा होना िादहए 
? 
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   (A) Frequency meter and P.F. meter   

  आवशृ्त्त भाऩी व P.F. भीटय   

 

   (B) Voltmeter and frequency meter   

  वोल्टमापी व आवसृ्ति मापी   

 

   (C) Voltmeter and power factor meter   

  वोल्टभाऩी व शश्तत गुणक भाऩी   

 

   (D) Wattmeter and voltmeter  

  वाटभीटय व वोल्टभीटय   

 

8.  Large value resistances are expressed in kilo 
ohm and mega ohm. How can 2800 ohm 
resistor be expressed ? 

फड़ ेभान वारे प्रर्तयोध को ककरो ओभ व भेगा 
ओभ भें व्मतत ककमा जाता है । 2800 ओभ 
येश्जस्टय को कैसे व्मतत ककमा जा सकता है ? 

 
   (A)  2800    

 
   (B)  2 k   

 
   (C)  2.8 k   

 
   (D)  0.2800 k   

 

9.  The First Governor of the Haryana 
was 
हरयमाणा के प्रथभ याज्मऩार कौन फनाए गए ? 

 

   (A) Shri Devi Lal   

  श्री देवीरार   

 

   (B) Shri Bansi Lal   

  श्री फॊसीरार   

 

   (C) Shri Dharmaveer   

  श्री र्मावीर   

 

   (D) Shri Satya Pal   

  श्री सत्मऩार   

 

10.  In which city of Haryana the famous ancient 
temple of Mata Shitala is situated ? 

भाता शीतरा का प्रभसर्द् प्रािीन भश्ददय 
हरयमाणा के ककस नगय भें है ? 

 
   (A) Narnaul / नायनौर   

 
   (B) Gurgaon / गुड़गाॉव   

 
   (C) Rewari / येवाड़ी   

 
   (D) Hisar / दहसाय   

 

11.  Who is the writer of novel "Mati ka Mol" ? 

"भाटी का भोर" उऩदमास के रेिक कौन हैं 
? 

 

   (A) Madhukant   

 भधकुादत   

 

   (B) Jaynarayan Kaushik   

 जयनारायण कौमशक   

 

   (C) Mohan Chopra   

 भोहन िोऩड़ा   

 

   (D) Santosh Singh  

 सदतोष भसॊह   

 

12.  Polarization in a primary cell can be removed 
by 

प्राथभभक सेर भें ध्रवुण को ककससे हटामा जा 
सकता है ? 

 

   (A) coating the electrodes of the cell   

  सेर के इरेतरोड का रेऩन कयके   

 

   (B) chemical action   

  रासायननक किया   

 

   (C) discharging the cell   

  सेर भें र्नयावेशन   

 

   (D) disposing the cell   

  सेर का र्नऩटान कयके   

 

13.  Which one of the following acts as 
depolarizer in a dry cell ? 

र्नम्नाॊककत भें स े कौन सा शुष्क सेर भें 
ववध्रवुक के रूऩ भें कामि कयता है ? 

 

   (A) Manganese dioxide   

  मैंगनीज़ डायोक्साइड   

 

   (B) Zinc chloride   

  श्जॊक तरोयाइड   
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   (C) Ammonium chloride   

  अभोर्नमभ तरोयाइड   

 

   (D) Carbon powder   

  काफिन ऩाउडय   

 

14.  Sweep of ceiling fan refers to 

सीभरॊग पैन के पैराव (स्वीऩ) से तमा तात्ऩमि 
है ? 

 

   (A) radius of circle formed by its rotation.   

  इसके घूणिन से फनने वारे वतृ्त की 
त्रत्रज्मा   

 

   (B) double the length of the blade.   

  ब्रेड की रॊफाई से दगुुना   

 

   (C) the distance from centre of motor to tip of 
the blade.   

  भोटय के भध्म से ब्रेड के नोक की दयूी   

 

   (D) double the distance from centre of motor 
to tip of the blade.   

  मोटर के मध्य से ब्ऱेड के नोक की दरूी 
स ेदगुुना   

 

15.  The resistance of the earth is 

ऩथृ्वी का प्रर्तयोध ककतना है ? 

 
   (A) 1 M   

 
   (B) 20 M   

 
   (C) infinite / अनॊत   

 
   (D) about zero / ऱगभग शून्य   

 

16.  Poems of the poet Pushpdant are related 
with which sect ? 

कवव ऩुष्ऩददत की यिनाएॊ ककस ऩॊथ स े
सम्फश्दधत हैं ? 

 
   (A) Jain / जैन   

 
   (B) Bauddha / फौर्द्   

 
   (C) Arya Samaj / आमि सभाज   

 
   (D) Sufis / सूपी ऩॊथ   

 

17.  Agriculture based food park is situated in 
which of the following ? 

कृवष आधारयत पूड ऩाकि  र्नम्नभरखित भें कहाॉ 
स्थावऩत है ? 

 

   (A) Narwana   

  नयवाना   

 

   (B) Saha  

  साहा   

 

   (C) Dabawali   

  डाफावरी   

 

   (D) All of these   

  इन सभी तर्थानों पर   

 

18.  The gain of a CE amplifier is highest at 

CE प्रवधिक की रश्ब्ध सवोच्ि कहाॉ होती है ? 

 

   (A) mid frequencies  

  मध्य आवसृ्तियों पर   

 

   (B) low frequencies   

  र्नम्न आवशृ्त्तमों ऩय   

 

   (C) high frequencies   

  उच्ि आवशृ्त्तमों ऩय   

 

   (D) all frequencies   

  सबी आवशृ्त्तमों ऩय   

 

19.  इनभें शुर्द् शब्द कौन सा है ? 

 
   (A) केन्रीकरण   

 
   (B) केश्दरमकयण   

 
   (C) केदरीमकयन   

 
   (D) केश्दरकयण   

 

20.  The mass of material deposited over an 
electrode is 

इरेतरोड ऩय जभ ेऩदाथि का रव्मभान होता है 

 

   (A) proportional to voltage  

वोल्टेज के सभानुऩार्तक   

 

   (B) proportional to time only  

केवर सभम के सभानुऩार्तक   
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   (C) proportional to current only  

केवर कयॊट के सभानुऩार्तक   

 

   (D) proportional to quantity of electricity and 
E.C.E.  

ववद्युि व ECE की मात्रा के 
समानुपानिक   

 

21.  याभ तुम्हाया िरयत स्वमॊ ही काव्म है ।  
कोई कवव फन जाए सहज सम्बाव्म है ।। 
इन ऩॊश्ततमों के रेिक का तमा नाभ है ? 

 
   (A) तुरसीदास   

 
   (B) मैधर्थऱीशरण गुप्ि   

 
   (C) याभधायीभसॊह ददनकय   

 
   (D) भसमायाभशयण गुप्त   

 

22.  Who was the main leader of Non–Co–
operation Movement in Haryana ? 

असहमोग आददोरन के प्रभुि नेता हरयमाणा 
भें कौन थे ? 

 

   (A) Mahatma Gandhi  

  भहात्भा गाॊधी   

 

   (B) Lala Lajpat Rai   

  ऱाऱा ऱाजपिराय   

 

   (C) Raja Rammohan Roy    

  याजा याभभोहन याम   

 

   (D) Surajmal   

  सूयजभर   

 

23.  When the Pradhan Mantri Jan–Dhan Yojana 
campaign was launched by the Prime 
Minister Narendra Modi ? 

प्रधान भॊत्री नयेदर भोदी द्वाया प्रधान भॊत्री 
जन–धन मोजना अभबमान की शुरुआत कफ 
की गई थी ? 

 
   (A) 28 August, 2014 /28 अगति, 2014   

 
   (B) 15 August, 2014 /15 अगस्त, 2014   

 
   (C) 2 October, 2014 /2 अतटूफय, 2014   

 
   (D) 26 January, 2016 /26 जनवयी, 2016   

 

24.  Oxide coated cathode is used in ऑतसाइड 
रेवऩत कैथोड का उऩमोग ककसभें ककमा जाता 
है ? 

 

   (A) Low power tubes   

  ननम्न पावर ट्यूब   

 

   (B) Medium power tubes   

  भध्मभ ऩावय ट्मूफ   

 

   (C) High power tubes   

  उच्ि ऩावय ट्मूफ   

 

   (D) Medium and high power tubes   

  भध्मभ व उच्ि ऩावय ट्मूफ   

 

25.  Hammers are classified 

हथौड़ों को ककस आधाय ऩय वगीकृत ककमा 
जाता है ? 

 

   (A) as per their hole and weight.   

 उनके छेद व बाय   

 

   (B) as per their frame`s shape and weight.   

  उनके फे्रम का आकार व भार   

 

   (C) as per their heel`s shape and weight.   

  उनके हीर का आकाय व बाय   

 

   (D) as per their handle`s length.  

  उनके हैंडर की रॊफाई   

 

26.  आल्हा सादहत्म की कौन सी ववधा है ? 

 
   (A) ऱोकवीर गार्था, हररयाणा   

 
   (B) ऩॊजाफी बॊगड़ा   

 
   (C) कचभीयी गीत   

 
   (D) भॊिीम नाटक   

 

27.  A fuse wire should have 

फ्मूज ताय भें तमा होना िादहए ? 

 
   (A) low specific resistance and high melting 
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point.   

  र्नम्न ववभशष्ट प्रर्तयोध व उच्ि गरनाॊक   

 

   (B) low specific resistance and low melting 
point.   

  र्नम्न ववभशष्ट प्रर्तयोध व र्नम्न 
गरनाॊक   

 

   (C) high specific resistance and high melting 
point. 

उच्ि ववभशष्ट प्रर्तयोध व उच्ि गरनाॊक   

 

   (D) high specific resistance and low melting 
point.   

  उच्च ववमशष्ट प्रनिरोर् व ननम्न गऱनाॊक   

 

28.  Eligible minimum age for the Governor is 

याज्मऩार के भरए दमूनतभ आमु मोग्मता है 

 
   (A) 45 years /45 वषि   

 
   (B) 35 years /35 वषा   

 
   (C) 25 years /25 वषि   

 
   (D) 30 years /30 वषि   

 

29.  Which of the following motors is suitable for 
high starting torque ? 

र्नम्नाॊककत भें से कौन सी भोटय शुरुआती 
उच्ि फर–आघूणि के भरए उऩमुतत है ? 

 

   (A) Shunt motor   

  शॊट भोटय   

 

   (B) Cumulative compound motor   

  सॊिमी मौगगक भोटय   

 

   (C) Series motor  

  सीरीज मोटर   

 

   (D) Compound motor   

  मौगगक भोटय   

 

30.  Which part becomes modified as the tusk of 
elephant ? 

कौन सा बाग हाथी के गजदॊत के रूऩ भें फदरता है 

? 

 
   (A) Canine / यदनक   

 
   (B) Premolar /अग्रिविणक   

 
   (C) Second incisor /दसूरा कृॊ िक   

 
   (D) Molar /िविणक   

 

31.  ` 800 amounts to ` 920 in 3 years at simple 
interest. If the interest rate is increased by 
3%, it would amount to how much ? 

` 800  की याभश 3 वषि भें साधायण ब्माज दय 
स े` 920 हो जाती है । मदद ब्माज दय भें 
3% ववृर्द् हो जाए, तो मह याभश ककतनी हो 
जाएगी ? 

 
   (A) ` 1056   

 
   (B) ` 1112   

 
   (C) ` 1182   

 
   (D) ` 992   

 

32.  The metal from which the electrons are 
emitted is called 

वह धातु तमा कहराती है श्जससे इरेतरॉन 
उत्सश्जित होते हैं ? 

 

   (A) An emitter  

  उत्सजिक   

 

   (B) A cathode  

  कैथोड   

 

   (C) An emitter or a cathode   

  उतसजाक या कैर्थोड   

 

   (D) None of these   

  इनभें स ेकोई नहीॊ   
 

33.  Which tool is used for removing a taper 
shank drill from the socket ? 

सॉकेट भें से टेऩय शेंक ड्रिर र्नकारने के भरए 
ककस टूर का इस्तेभार ककमा जाता है ? 

 
   (A) Spanner / स्ऩैनय   

 
   (B) Sleeve / स्रीव   

 
   (C) Tang / टैंग   

 
   (D) Drift / ड्रिफ्ट   
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34.  The curve representing Ohm`s Law is 

ओभ र्नमभ को प्रदभशित कयने वारा वक्र कौन 
सा है ? 

 

   (A) a parabola   

 ऩयवरम   

 

   (B) linear   

 रैखखक   

 

   (C) sine function   

 साइन परन   

 

   (D) a hyperbola  

 अर्तऩयवरम   

 

35.  Which of the following material is used for 
making permanent magnets ? 

र्नम्नाॊककत भें से ककस ऩदाथि का उऩमोग 
स्थाई िुॊफक फनाने के भरए ककमा जाता है ? 

 

   (A) Carbon Steel   

  काफिन स्टीर   

 

   (B) Platinum Cobalt   

  प्रेदटनभ कोफाल्ट   

 
   (C) ALNICO–V   

 

   (D) All of these   

  ये सभी   
 

36.  The simplest way of varying the flux 
produced by an electromagnet smoothly in 
an electrical device is by 

ककसी ववद्मुत उऩकयण भें ववद्मुत–िुॊफक 
द्वाया उत्ऩाददत फ्रतस भें आसानी से फदराव 
का सयरतभ तयीका तमा है ? 

 

   (A) increasing and decreasing the number of 
turns of the coil.   

  कोइर के पेयों की सॊख्मा भें फढ़त व 
घटत   

 

   (B) using an exciting coil with number of 
tappings.   

  कई टेवऩॊग के साथ उत्तेश्जत कोइर का 
उऩमोग   

 

   (C) varying the current through the exciting 
coil.   

  उत्तेश्जत कोइर के द्वाया कयॊट भें 
फदराव  

 

   (D) varying the core position of the exciting 
coil.  

  उत्तेश्जत कोइर की कोय श्स्थर्त भें 
फदराव   

 

37.  
The simple interest on a sum of money is  

 of the principal and the number of years is 
equal to the rate percent per annum. The 
rate percent per annum is 

ककसी धन–याभश ऩय साधायण ब्माज भूर–धन 

का  है तथा वषों की सॊख्मा प्रर्त वषि 

ब्माज के प्रर्तशत दय के फयाफय हैं, तो प्रर्त 
वषि ब्माज दय प्रर्तशत तमा है ? 

 
   (A) 3   

 

   (B) 
 

   

 

   (C) 
   

 

   (D) 
 

   

 

38.  The semiconductor diodes can be used for 

अधििारक डामोड का उऩमोग ककस भरए 
ककमा जा सकता है ? 

 

   (A) Half wave rectifiers   

  अधि तयॊग ददष्टकायी   

 

   (B) Full wave rectifiers   

  ऩूणि तयॊग ददष्टकायी   

 

   (C) Half and full wave rectifiers   

  अर्ा व पूणा िरॊग हदष्टकारी   

 

   (D) None of these   

  इनभें स ेकोई नहीॊ   
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39.  The transformer used for starting the high 
induction motor is 

उच्ि प्रेयण भोटय को िराने के भरए ककस 
राॊसपॉभिय का उऩमोग ककमा जाता है ? 

 

   (A) auto transformer   

  ऑटो–ट्ाॊसफॉमार   

 

   (B) step–down transformer  

  स्टेऩ–डाउन राॊसपॉभिय   

 

   (C) potential transformer   

  ववबव राॊसपॉभिय   

 

   (D) two winding transformer   

  दो–कुॊ डरन राॊसपॉभिय   

 

40.  Choose the alternative which best expresses 
the meaning of the given idiom/phrase. 
To take a fancy to 

 
   (A) to fall in a trap   

 
   (B) to defy   

 

   (C) to start liking something or someone very 
much   

 
   (D) invent by thinking   

 

41.  Ravi was always _______ of the good fortune 
of others. (Fill in the blank) 

 
   (A) miserable   

 
   (B) irritable   

 
   (C) greedy   

 
   (D) envious   

 

42.  When was the Indian National Congress 
founded ? 

इॊड्रडमन नेशनर काॊगे्रस की स्थाऩना कफ हुई 
थी ? 

 
   (A) In the year 1885 / वषा 1885 में   

 
   (B) In the year 1901 / वषि 1901 भें   

 
   (C) In the year 1905 / वषि 1905 भें   

 
   (D) In the year 1945 / वषि 1945 भें   

 

43.  The number of scheduled caste reserve 

constituencies for Lok Sabha in Haryana is 

हरयमाणा भें रोक सबा के भरए अनुसूगित 
वगि के भरए ककतने ऺेत्र आयक्षऺत हैं ? 

 
   (A) 2   

 
   (B) 1   

 
   (C) 3   

 
   (D) 4   

 

44.  Which city is famous for the manufacturing 
of Scientific instruments ? 

वैऻार्नक उऩकयणों के र्नभािण के भरए प्रभसर्द् 
नगय कौन सा है ? 

 
   (A) Ambala / अम्बाऱा   

 
   (B) Gurgaon / गुड़गाॉव   

 
   (C) Panipat / ऩानीऩत   

 
   (D) Hisar / दहसाय   

 

45.  Which river out of the following ends in 
Arabian Sea ? 

र्नम्न भें स े कौन सी नदी अयफ सागय भें 
सभाप्त होती है ? 

 
   (A) Krishna / कृष्णा   

 
   (B) Kaveri / कावेयी   

 
   (C) Brahmaputra / ब्रह्भऩुत्र   

 
   (D) Narmada / नमादा   

 

46.  Megger is an instrument meant for 
measuring 

भेगय उऩकयण  से तमा भाऩा जाता है ? 

 

   (A) very low resistance.   

 फहुत कभ प्रर्तयोध   

 

   (B) insulation resistance.  

 ववद्युिरोर्ी का प्रनिरोर्   

 

   (C) inductance of a coil.   

 कोईर का प्रेयण   

 
   (D) Q of a coil.   
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 कोईर का Q   

 

47.  Chhudani Dham is related with the 

छुड़ानी धाभ का सम्फदध ककस भहाऩुरुष से है 
? 

 

   (A) Saint Garib Das   

  सॊत गयीफदास   

 

   (B) Saint Ravi Das  

  सॊत यववदास   

 

   (C) Saint Hari Das   

  सॊत हरयदास   

 

   (D) Swami Nityanand   

  स्वाभी र्नत्मानदद   

 

48.  Choose the alternative which best expresses 
the meaning of the given idiom/phrase. 
Official counting of the people in a country. 

 
   (A) collection   

 
   (B) gathering   

 
   (C) census   

 
   (D) crowd   

 

49.  गुरु गोववदद दोऊ िड़े काके रागू ऩाम ।  
फभरहायी गुरु आऩने गोववदद ददमो भभराम ।। 
इस दोहे के रेिक कौन हैं ? 

 
   (A) यहीभ   

 
   (B) तुरसीदास   

 
   (C) कबीरदास   

 
   (D) भीयाफाई   

 

50.  The donor type of impurity is 

दाता प्रकाय की अशुवर्द् कौन सी है ? 

 

   (A) Phosphorous   

  फॉतफोरस   

 

   (B) Aluminium   

  एरुभभर्नमभ   

 
   (C) Boron   

  फोयोन   

 

   (D) Iron   

  रोहा   
 

51.  Ideally a constant voltage source should have 

आदशि रूऩ भें र्नमताॊक वोल्टता स्रोत भें होना 
िादहए ? 

 

   (A) Infinite resistance  

अनॊत प्रर्तयोध   

 

   (B) Zero resistance  

शून्य प्रनिरोर्   

 

   (C) Infinite capacitance  

अनॊत धारयता   

 

   (D) None of these  

इनभें स ेकोई नहीॊ   
 

52.  Power factor of an A.C. circuit is equal to 

AC सककि ट का शश्तत गुणक ककसके फयाफय 
होता है ? 

 

   (A) cosine of angle between voltage and 
current.   

  वोल्टेज व करॊट के बीच कोण की कोज्या   

 

   (B) tangent of angle between voltage and 
current.   

  वोल्टेज व कयॊट के फीि कोण की 
स्ऩशिज्मा   

 

   (C) impedance/resistance.   

  प्रर्तफाधा/प्रर्तयोध   

 

   (D) apparent power/real power.   

  आबासी ऩावय/मथाथि ऩावय   

 

53.  Which one of the following is not a 
maintenance free battery ? 

र्नम्नाॊककत भें से कौन सी फैटयी यियिाव 
भुतत नहीॊ है ? 

 
   (A) Ni – Cd   

 
   (B) Ni – Fe   

 
   (C) Alkaline Magnesium / ऐल्करीन 
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भैग्नीभशमभ   

 
   (D) Lead–acid / सीसा–ऐमसड   

 

54.  ``अरुण मह भधभुम देश हभाया`` गीत के 
रेिक कौन हैं ? 

 
   (A) बायतेदद ुहरयचिदर   

 
   (B) जयशॊकर प्रसाद   

 
   (C) र्नयारा   

 
   (D) ददनकय   

 

55.  At which place Lord Krishna gave the Geeta 
Upadesh to Arjuna ? 

बगवान कृष्ण ने गीता का उऩदेश ककस 
स्थान ऩय अजुिन को ददमा ? 

 

   (A) Jyotisar (Kurukshetra)   

  ज्योनिसर (कुरुऺेत्र)   

 

   (B) Kapisthal   

  कवऩस्थर   

 

   (C) Panipat   

  ऩानीऩत   

 

   (D) Pandu Pindara   

  ऩाण्डु वऩॊडाया   
 

56.  Who was the last Hindu ruler of the Delhi 
kingdom ? 

ददल्री की गद्दी ऩय फैठन ेवारा अश्दतभ दहदद ू
शासक कौन था ? 

 

   (A) Harshvardhan   

  हषिवर्द्िन   

 

   (B) Hemchandra  

  हेमचन्र   

 

   (C) Rao Tularam   

  याव तुरायाभ   

 

   (D) Mohan Singh   

  भोहन भसॊह   

 

57.  Which committee has recently submitted 
report on Insolvency and Bankruptcy Code 
2015 ?  

ककस कभेटी न े हार ही भें ददवाभरमाऩन 
(इनसोल्वेंसी एण्ड फैंकयप्सी) सॊदहता 2015 ऩय 
प्रर्तवेदन प्रस्तुत ककमा है ? 

 

   (A) Shah Nawaz Committee   

  शाह नवाज कभेटी   

 

   (B) Ravi Prakash Tyagi Committee   

  यवव प्रकाश त्मागी कभेटी   

 

   (C) Kalyan Banerjee Committee   

  कल्माण फैनजी कभेटी   

 

   (D) Bhupender Yadav Committee   

  भूपेन्दर यादव कमेटी   
 

58.  Choose the correct alternative from the given 
ones that will complete the series. 

ददए गए ववकल्ऩों भें से वह सही ववकल्ऩ 
िरु्नए जो अनुक्रभ को ऩूया कये । 

5, 21, 69, 213, 645,  

 
   (A) 1670   

 
   (B) 1941   

 
   (C) 720   

 
   (D) 1320   

 

59.  In which type of d.c. machine–poles is 
residual magnetism necessary ? 

ककस तयह की d.c. भशीन-ध्रवुों  भें अवभशष्ट 
िुॊफकत्व आवचमक है ? 

 

   (A) Shunt generator   

 शॊट जनरेटर   

 

   (B) Motor  

 भोटय   

 

   (C) Separately excited generator   

 अरग स ेउत्तेश्जत जनयेटय   

 

   (D) Permanent magnet type generator   

 स्थाई िुॊफक वारा जनयेटय   

 

60.  Find the odd word from the given 
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alternatives. 

ददए गए ववकल्ऩों भें से ववषभ शब्द िरु्नए । 

 

   (A) Tomato  

  टमाटर   

 

   (B) Potato   

  आरू   

 

   (C) Carrot   

  गाजय   

 

   (D) Onion  

  प्माज   

 

61.  Choose the word that best expresses the 
meaning of the underlined word : 
I quite enjoyed the book but found the 
ending rather tame. 

 
   (A) dull   

 
   (B) interesting   

 
   (C) impossible   

 
   (D) appropriate   

 

62.  Select the related letters from the given 
alternatives. 

ददए गए ववकल्ऩों भें से सम्फश्दधत अऺयों को 
िरु्नए। 
BEHK : YVSP : : ADGJ : ? 

 
   (A) ZUTR   

 
   (B) ZVSP   

 
   (C) ZWTQ   

 
   (D) ZWXZ   

 

63.  Electronics is the branch of engineering 
which deals with the flow of electrons 
through 

इरेतरॉर्नकी, इॊजीर्नमरयॊग की वह शािा है 
जो _______ से इरेतरॉनों के प्रवाह स े
सॊफॊगधत है । 

 

   (A) Semiconductors  

  अधििारक   

 

   (B) Gas   

  गैस   

 

   (C) Vacuum   

  र्नवाित   

 

   (D) All of these   

  इन सभी   
 

64.  The ratio of the ages of father and son at 
present is 6 : 1. After 5 years the ratio will 
become 7 : 2. The present age of the son is 

वतिभान भें वऩता औय ऩुत्र की उम्र का 
अनुऩात 6 : 1 है । ऩाॉि वषि फाद मह 
अनुऩात 7 : 2 हो जाएगा । ऩुत्र की वतिभान 
उम्र है 

 
   (A) 5 years /5 वषा   

 
   (B) 6 years /6 वषि   

 
   (C) 9 years /9 वषि   

 
   (D) 10 years /10 वषि   

 

65.  Which district of Haryana is largest, with 
reference to population (Census–2011) ? 

जनसॊख्मा की दृश्ष्ट स े हरयमाणा का सफस े
फड़ा श्जरा कौन सा है (जनगणना–2011) ? 

 

   (A) Panchkula   

  ऩॊिकुरा   

 

   (B) Sirsa  

  भसयसा   

 

   (C) Faridabad   

  फरीदाबाद   

 

   (D) Gurgaon   

  गुड़गाॉव   

 

66.  From the given alternatives select the word 
which cannot be formed using the letters of 
the given word. 

ददए हुए ववकल्ऩों भें से उस शब्द को िरु्नए 
जो ददए गए शब्द के अऺयों का प्रमोग कयके 
नहीॊ फनामा जा सकता । 
HISTORICAL 

 
   (A) RICHES   
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   (B) CHARIOT   

 
   (C) CHART   

 
   (D) CHAOS   

 

67.  Khoriya is the entertainment programme of 
which occasion ? 

िोड्रड़मा ककस अवसय का भनोयॊजक कामिक्रभ 
है ? 

 

   (A) At the event of son`s marriage   

  ऱड़के की शादी के अवसर पर   

 

   (B) On the occasion of Holi   

 होरी के अवसय ऩय   

 

   (C) At the Teej festival  

 तीज के उत्सव ऩय   

 

   (D) On the elder`s death   

  वरृ्द् की भतृ्मु ऩय   

 

68.  In which district of Haryana there is no 

Railway line ?  

हरयमाणा का ऐसा श्जरा श्जसभें येरवे राइन 
नहीॊ है ?  

 

   (A) Sirsa   

 भसयसा   

 

   (B) Mewat   

 मेवाि   

 

   (C) Kaithal  

 कैथर   

 

   (D) Mahendragarh   

 भहेदरगढ़   

 

69.  If 3 men or 5 women can reap a field in 43 
days, how long will 5 men and 6 women take 
to reap it ? 

मदद 3 ऩुरुष अथवा 5 भदहरामें ककसी िेत 
की 43 ददन भें कटाई कय सकते हैं, तो 5 
ऩुरुष औय 6 भदहरामें इसकी कटाई कयने भें 
ककतना सभम रेंगे ? 

 
   (A) 15 days /15 हदन   

 
   (B) 20 days /20 ददन   

 
   (C) 25 days /25 ददन   

 
   (D) None of these /इनभें से कोई नहीॊ   

 

70.  Electrolysis of an aqueous solution of copper 
sulphate using copper electrodes gives 

कॉऩय इरेतरोडों का प्रमोग कयके कॉऩय 
सल्पेट के जरीम घोर के ववद्मुत–अऩघटन स े
भभरता है 

 

   (A) Copper at cathode and oxygen at anode.  

कैथोड ऩय कॉऩय औय ऐनोड ऩय ऑतसीजन   

 

   (B) Copper at anode and oxygen at cathode.  

ऐनोड ऩय कॉऩय औय कैथोड ऩय ऑतसीजन   

 

   (C) Copper at cathode and anode dissolve to 
give copper.  

कैर्थोड पर कॉपर और ऐनोड घुऱकर कॉपर 
देिे हैं ।   

 

   (D) Hydrogen at cathode and oxygen at anode.  

कैथोड ऩय हाइिोजन औय ऐनोड ऩय 

ऑतसीजन   

 

71.  When a transistor is used as a switch, the 
terminals that correspond to the ON/OFF 
switch terminals are 

जफ राॊश्जस्टय का उऩमोग श्स्वि के रूऩ ककमा 
जाता है तो व ेटभभिनर कौन से हैं जो ऑन–
ऑप श्स्वि टभभिनर के सभान हैं ? 

 

   (A) collector and emitter  

  सॊग्राहक व उतसजाक   

 

   (B) collector and base   

  सॊग्राहक व फेस   

 

   (C) emitter and base   

  उत्सजिक व फेस   

 

   (D) base and collector   

  फेस व सॊग्राहक   

 

72.  Which city is not a Tehsil of Gurgaon ? 

कौन सा नगय गुड़गाॉव की एक तहसीर नहीॊ 
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है ? 

 

   (A) Manesar  

 भानेसय   

 

   (B) Kosali   

 कोसऱी   

 

   (C) Pataudi   

 ऩटौदी   

 

   (D) Farrukhnagar  

 परूि िनगय   

 

73.  The semiconductors are replacing electronic 
tube because they are 

अधििारक इरेतरॉर्नक ट्मूफ की जगह रे यहे 
हैं तमोंकक वे 

 

   (A) Light in weight   

  हरके बाय वारे हैं ।   

 

   (B) Smaller in size   

  रघ ुआकाय के हैं ।   

 

   (C) Longer in life and greater in ruggedness   

  रॊफी कारावगध व ज्मादा भजफूत है ।   

 

   (D) All of these   

  ये सभी   
 

74.  Which type of fire extinguisher is to be used 
on electrical equipment or installation under 
fire ? 

ववद्मुत उऩकयण अथवा स्थाऩनाओॊ ऩय आग 
रगने ऩय ककस तयह के अश्ग्नशाभक का 
उऩमोग कयना िादहए ? 

 

   (A) Foam type   

  पोभ प्रकाय   

 

   (B) Halon type   

  हैऱोन प्रकार   

 

   (C) Gas cartridge, water filled type   

  गैस कादरज, जर बया प्रकाय   

 

   (D) Stored pressure, water filled type   

  सॊग्रदहत दाफ, जर बया प्रकाय   

 

75.  Which one of the following is a water borne 
disease? 

र्नम्नभरखित भें जर जर्नत योग कौन सा है 
? 

  

 
   (A) Diabetes /भधभुेह   

 
   (B) Cholera /हैज़ा   

 
   (C) Small Pox /ििेक   

 
   (D) Malaria /भरेरयमा   

 

76.  Safety fuse wire used in domestic electrical 
appliances is made of metal of low 

घयेर ूवैद्मुत उऩकयणों भें प्रमुतत सुयऺा फ़्मूज़ 
ताय उस धातु से फना होता है श्जसका 

 

   (A) Resistance  

प्रर्तयोध कभ हो ।   

 

   (B) Melting point  

गऱनाॊक कम हो ।   

 

   (C) Specific gravity  

ववभशष्ट घनत्व कभ हो ।   

 

   (D) Conductance  

िारकत्व कभ हो ।   
 

77.  Which one of the following statements is 
false ? 

र्नम्नाॊककत भें से कौन सा कथन गरत है ? 

 

   (A) An ammeter is connected in series.   

  ऐभीटय सीयीज़ भ ेजुड़ा होता है ।    

 

   (B) A voltmeter is connected across the load.   

  वोल्टभीटय बाय से जुड़ा होता है ।   

 

   (C) The resistance of a conductor decreases 
with an increase in its temperature.   

  चाऱक का प्रनिरोर् इसके िापमान के 
बढ़ने के सार्थ घटिा है ।   

 

   (D) Greater is the length of a wire, higher will 
be its resistance.   

  ताय की रॊफाई श्जतनी अगधक होगी, 
इसका प्रर्तयोध बी उतना अगधक होगा ।   
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78.  Sonipat city is famous for its industry named 

सोनीऩत नगय ककस उद्मोग के भरए प्रभसर्द् है 
? 

 

   (A) Cycle   

  साइकऱ   

 

   (B) Car   

  काय   

 

   (C) Cement   

  सीभेदट   

 

   (D) Cotton fabrics   

  सूती वस्त्र   

 

79.  Kauravi is a type of which dialect ? 

कौयवी ककस फोरी का प्रारूऩ भानी जाती है ? 

 
   (A) Awadhi / अवधी   

 
   (B) Khadi Boli / खड़ी बोऱी   

 
   (C) Urdu / उदूि   

 
   (D) Maithili / भैगथरी   

 

80.  What were manufactured in oldest industries 
of Gurgaon ? 

गुड़गाॉव भें सफस ेप्रािीन उद्मोगों भें ककसका 
र्नभािण हुआ ? 

 
   (A) Car / कार   

 
   (B) Cycle / साइकर   

 
   (C) Scooter / स्कूटय   

 
   (D) Railway Engine / येरवे इॊजन   
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‡ÃÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖê Æü»Ö Ûú¸ü®Öê ÃÖê ¯ÖÆü»Öê Ûéú¯ÖµÖÖ ×®Ö¤ìü¿ÖÖë ÛúÖê ¯ÖœÌëü 
†³µÖÙ£ÖµÖÖë Ûêú ×»Ö‹ ×¾Ö¿ÖêÂÖ ×®Ö¤ìü¿Ö 

 

1. प्रत्मेक प्रचन को हर कयें औय प्रत्मेक प्रचन के भरए र्नधािरयत अॊक सभान अथाित 2 हैं। 
2. प्रचन-ऩत्र को हर कयने से ऩहरे कृऩमा जाॉि रें कक ऩुश्स्तका भें कुर  16 ऩषृ्ठ औय एक OMR उत्तय ऩत्रक तीन कावऩमों वारा है। अभ्मगथिमों को 

सराह दी जाती है कक ऩयीऺा प्रायॊब होते ही ऩाॉि भभनट के अॊदय सुर्नश्चित कय रें कक आऩकी ऩुश्स्तका औय  OMR उत्तय ऩत्रक के सबी ऩषृ्ठ 
अच्छी तयह छऩे हुए हैं औय इसे ककसी बी प्रकाय से ऺर्त नहीॊ ऩहुॉिी है।  OMR उत्तय ऩत्रक एवॊ टेस्ट फुकरेट  (ऩुश्स्तका) के सीरयमर नॊ . एक-
सभान होने िादहए। ककसी बी प्रकाय की ववसॊगर्त ऩाए जाने ऩय अभ्मथी को ऩरयवीऺक से टेस्ट फुकरेट औय  OMR उत्तय ऩत्रक फदरवा रेनी 
िादहए। ऩयीऺा प्रायॊब होने के ऩाॉि भभनट ऩचिात ्ऐसी भशकामतों ऩय वविाय नहीॊ ककमा जाएगा। 

3. इस ऩुश्स्तका औय OMR उत्तय ऩत्रक भें ऊऩय अऩना योर नम्फय भरिना न बूरें। 
4. प्रचन-ऩुश्स्तका औय OMR उत्तय ऩत्रक के ककसी बी ऩषृ्ठ को न तो पाड़ें औय न भोड़ें। 
5. अभ्मगथिमों को स्ऩष्ट ऩठनीम प्रवेश -ऩत्र राना है, श्जस ऩय हार ही भें िीॊिा गमा यॊगीन पोटो उस स्थान ऩय गिऩका होना िादहए जहाॉ  B 

भरिा हुआ है। इस पोटो को ककसी याजऩत्रत्रत अगधकायी द्वाया प्रभाखणत होना िादहए। इसके अर्तरयतत पोटो रगा हुआ एक ऩरयिम -ऩत्र, 
जैसे कक िाइववॊग राइसेदस, भतदाता ऩरयिम-ऩत्र, आधाय काडि, ऩासऩोटि आदद भें से कोई एक ऩयीऺा -केदर ऩय राना अर्नवामि है। इनके न 
होने ऩय अभ्मथी को ऩयीऺा-केदर भें प्रवेश की अनुभर्त नहीॊ दी जाएगी। 

6. अभ्मगथिमों को सराह दी जाती है कक वे सुर्नश्चित कय रें कक उदहोंन ेOMR उत्तय-ऩत्रक भें नाभ, योर नॊ. औय टेस्ट फुकरेट कोड सही बया 
है। मदद फुकरेट-कोड के भरए ददमा गमा स्थान िारी छोड़ा जाता है मा एक से अगधक फुकरेट कोड भरि ददए गए हैं मा र्नदेशानुसाय नाभ 
औय योर नम्फय नहीॊ बये गए हैं तो इसे गरत तयीके से बया गमा फुकरेट कोड भाना जाएगा औय उत्तय -ऩत्रक का भूल्माॊकन नहीॊ ककमा 
जाएगा। टेस्ट फुकरेट कोड भरिने भें ककसी बी प्रकाय की त्रुदट मा िूक होने ऩय अभ्मथी स्वमॊ ही ऩरयणाभों को बुगतने के भरए उत्तयदामी 
होगा। ऩुरुष-अभ्मथी अऩने फाएॉ हाथ के अॉगूठे का औय भदहरा -अभ्मथी अऩने दाएॉ हाथ के अॉगूठे का अॊकन उऩश्स्थर्त -ऩत्रक ऩय, OMR 
उत्तय ऩत्रक ऩय औय फामोभैदरक भशीन भें देंगे औय उगित स्थान ऩय हस्ताऺय बी कयेंगे। 

7. ऩयीऺा-हॉर भें ऩरयवीऺक की उऩश्स्थर्त भें अभ्मगथिमों को प्रवेश-ऩत्र ऩय दो स्थानों भें हस्ताऺय कयने हैं औय अॉगूठे के र्नशान देने हैं। 
8. अभ्मगथिमों को िेतावनी दी जाती है कक वे  OMR उत्तय-ऩत्रक भें ककसी बी प्रकाय का अनावचमक र्नशान न फनाएॉ औय न ही इसे भोड़ें।  OMR 

उत्तय ऩत्रक भें कुछ बी भरिने औय बयने के ऩचिात ्उसे भभटाने के भरए यफड , नािून, ब्रेड, सपेद तयर ऩदाथि / वाइटनय आदद का प्रमोग मा 
ककसी अदम प्रकाय से इसे ऺर्त ऩहुॉिाने ऩय सख़्त र्नषेध है। इन वस्तुओॊ के प्रमोग से उत्तय -ऩत्रक मा OMR उत्तय ऩत्रक भें धब्फे ऩड़े होने ऩय , 
ियोंि के र्नशान होने ऩय मा ऺर्त होने ऩय अभ्मथी की अभ्मगथिता औय OMR उत्तय ऩत्रक दोनों ही र्नयस्त कय ददए जाएॉगे। 

9. अभ्मगथिमों को िेतावनी दी जाती है कक वे रुभार , भोफाइर पोन, ककसी बी प्रकाय की घड़ी, फेल्ट, इरेतरॉर्नक मा सॊिाय सॊफॊधी मॊत्र, ऩेन, ऩेश्दसर, 
इयेज़य, शाऩिनय औय भरिा हुआ भभटाने के भरए तयर ऩदाथि ऩयीऺा-कें र भें न रे जाएॉ औय न ही अॉगूठी, िैन, कान भें ऩहनने की इअरयॊग मा ककसी 
बी प्रकाय का आबूषण ऩहनें। इन वस्तुओॊ के साथ ककसी बी अभ्मथी को ऩयीऺा -हॉर भें प्रवेश नहीॊ ददमा जाएगा। ऩयीऺा -कऺ के अॊदय ककसी 
अभ्मथी के ऩास मदद भोफाइर पोन मा ऐसी ही कोई वस्तु श्जनका उल्रेि ऊऩय ककमा गमा है , ऩामी जाती है तो इसे र्नमभों का गॊबीय उल्रॊघन 
भाना जाएगा औय ऩयीऺा भें उसकी अभ्मगथिता र्नयस्त कय दी जाएगी तथा बववष्म भें री जाने वारी ऩयीऺाओॊ भें उऩश्स्थत होने ऩय बी प्रर्तफदध 
रगा ददमा जाएगा। OMR उत्तय ऩत्रक ऩय भभटाने के भरए यफड़ , नािून, ब्रेड, सपेद तयर ऩदाथि /वाइटनय आदद के उऩमोग अथवा ककसी अदम 
प्रकाय से ऺर्त ऩहुॉिाने ऩय अभ्मथी का OMR उत्तय ऩत्रक र्नयस्त हो जाएगा औय ऐसे OMR उत्तय ऩत्रक का भूल्माॊकन नहीॊ ककमा जाएगा। 

10. भरखित ऩयीऺा के र्नयीऺण भें ऩयीऺा -केदर भें प्रवेश से ऩहरे तराशी के अर्तरयतत , CCTV कैभया, फामोभैदरक मॊत्र से अॉगूठे के र्नशान रेकय 
उऩश्स्थर्त बयना, पोटो िीॊिना, वीड्रडमोग्रापी औय जैभय का प्रमोग आदद शाभभर हैं ताकक नकर को योका जा सके औय एक अभ्मथी के स्थान ऩय 
कोई दसूया ऩयीऺा न दे सके। 

11. ऩयीऺा-केदर भें ऩरयवतिन मा ऩयीऺा-हॉर भें सीट के ऩरयवतिन के सॊफॊध भें ककसी बी अभ्मथी की प्राथिना ऩय वविाय नहीॊ ककमा जाएगा। 
12. ऩरयवीऺक द्वाया प्रवेश -ऩत्र मा उऩश्स्थर्त ऩत्रक भें अभ्मथी के स्कैन ककए हुए पोटो का भभरान अभ्मथी से ककमा जाएगा। अभ्मथी औय 

उसके पोटो के सत्माऩन औय ऩहिान भें ककसी बी प्रकाय की ववसॊगर्त ऩाए जाने ऩय अभ्मथी को ऩयीऺा भें प्रवेश की अनुभर्त नहीॊ दी 
जाएगी औय वह आऩयागधक अभबमोग का ऩात्र होगा। 

13. इस OMR उत्तय-ऩत्रक की तीन प्रर्तमाॉ हैं , भूर प्रर्त, आमोग प्रर्त एवॊ अभ्मथी प्रर्त। इदहें कदावऩ अरग न कयें।  OMR उत्तय ऩत्रक की तीनों 
प्रर्तमों भें गोरों को अरग-अरग कारा न कयें। अभ्मथी ऩयीऺा सभाप्त होने ऩय ओ .एभ.आय. उत्तय-ऩत्रक तीनों प्रर्तमों को अरग ककमे त्रफना कऺ 
ऩरयपे्रऺक को सौंऩ देंगे। अभ्मथी प्रर्त कऺ ऩरयपे्रऺक द्वाया अरग कयके उदहें दे दी जामेगी। अभ्मथी अऩने साथ इस ऩयीऺा ऩुश्स्तका को रे जा 
सकते हैं। 

14. प्रत्मेक प्रचन के िाय वैकश्ल्ऩक उत्तय ददए गए हैं श्जनभें से केवर एक सही है। प्रत्मेक प्रचन के उत्तय के भरए  OMR उत्तय ऩत्रक भें केवर उस 
एक गोरे को ऩेन से बय देना है श्जसे आऩ सही उत्तय सभझते हैं। मह आऩको आमोग द्वाया उऩरब्ध कयाए गए केवर नीरे मा कारे फॉर-ऩेन से 
कयना है। गोरों को बयने के भरए ऩेश्दसर का प्रमोग नहीॊ कयना है। मदद ककसी उत्तय के भरए दो गोरों को गाढ़ा ककमा गमा है तो उस उत्तय का 
भूल्माॊकन नहीॊ ककमा जाएगा। 

15. ऩयीऺा के  प्रथभ औय अॊर्तभ तीस भभनट के दौयान ककसी बी अभ्मथी को प्रसाधन (टॉमरेट/वॉशरूभ) भें जाने की अनुभर्त नहीॊ दी जाएगी। 
16. ककसी बी अभ्मथी को OMR उत्तय ऩत्रक िारी छोड़ने की अनुभर्त नहीॊ है। मदद कोई  OMR उत्तय ऩत्रक िारी ऩाई गई तो ऩरयवीऺक उस ऩय  

"क्रॉस" कयने के ऩचिात ्अऩना हस्ताऺय कय देंगे औय उस ऩय "र्नयस्त" भरि देंगे। 
17. आऩके उत्तय-ऩत्रक की जाॉि इरेतरॉर्नक स्कैर्नॊग सॊसाधन से की जाएगी। अधूया मा गरत बयने ऩय आऩका उत्तय-ऩत्रक अभादम हो सकता है। 
18. सभस्त आवचमक वववयण सावधानीऩूविक उत्तय-ऩत्रक भें बयना है। उत्तय-ऩत्रक के फदराव की अनुभर्त नहीॊ है। 
19. फॉतस के सही गोरा/गोरों को यॊगते सभम नीिे ददए रूऩ भें सही गोरा/गोरों को यॊगे। मदद आऩ एक से अगधक गोरों को कारा कयते हैं तो आऩके 

उत्तय को गरत भाना जाएगा औय ऐसे उत्तय का भूल्माॊकन नहीॊ होगा। 

 
20.  मदद कोई अभ्मथी उऩमुितत र्नदेशों का ऩारन नहीॊ कयता है मा अनुशासन बॊग कयता है तो आमोग र्नदेशानुसाय उसके ववरुर्द् कामिवाही कयेगा, 

औय इसके अर्तरयतत उसे बववष्म भें री जाने वारी ऩयीऺाओॊ से बी वॊगित ककमा जा सकता है। उसके ववरुर्द् आऩयागधक कामिवाही का केस बी दजि 
ककमा जा सकता है। 

 


